
   

 

 

      

 

      

  

      

     Production Ref: L001

  

KA1025     4FT     Small Double    122*190*85CM

KA1026    4FT6        Double          135*190*85CM 

KA1027     5FT          King             150*200*85CM

   Dimensions  of  Bed  when  fully  Assembled:
Lenght  x  Width  x  Height  ( Headboard /  Footboard )

Approx
1.5 Hour
 Set Up



PLEASE READ THE INSTRUCTIONS CAREFULLY PRIR TO ASSEMBLY.

WARNINGS

HOW TO USE BED

 

time

transit

be

CAUTIOUS:-keep

been



PARTLIST

HARDWARELIST

TOOL  list

L

C
U

O

Q
N

J

E

G

M

F U
P

D
L

T

N
Q

J
S

KF

I

E

A

B

R
I

 

Label Picture Description Qty Label Picture Description Qty

1
2
3
4

5
6
7
10

Bolt  M8x20 14
Bolt  M8x40

Bolt  M6x16

Bolt  M6x35

Bolt  M8x20

Nut  M8

Nut  M6

12
8
8

4
6
8
9

Label Picture Description Qty

8
9

Allen key  M5  M6

Spanner M10  M12  M13

2
3

Foam Pad

ln the unlikely event of assembly problems  damage in transit or missing parts please contact on
the websi te the purchase was made. We can assist with replacent parts  assembly advice.'

'



U 2PCS 2 6PCS

8

U

2 8

O

C
O

P

C
D

1 8PCS

8 A D

1 8

8
 

CB

1

Step 2

Step 1
Siderail

Allen key  M6

Bolt  M8x20

Allen key  M6

Bolt  M8x40



J 2PCS

1

3 8PCS

7

Step 4

Step 3K 1PCS

8

8

1

D

J

B

8

K

1

B

Allen key  M6Bolt  M8x20

6PCS
Footboard PlateConnection Plate

4

8

9

E F

83

9

7
4

8

F

G

E

3F

84PCS

4PCS

Allen key  M5

Bolt  M6x35Bolt  M6x16

Nut  M6

Spanner M10

 



5 4PCS

9

2 6PCS

8

Step 6

Step 58

Allen key  M5

6

9

6PCS

Allen key  M6

Bolt  M8x40

 

Bolt  M8x20

8

5

H
D

9

9 Q

P

Spanner M13

Nut  M8

Spanner M12

O 9
6

2

8E P 9
6

2
8E



10 9PCS

4 4PCS

8

Step 8

Step 7

7

9

4PCS

Allen key  M5

Bolt  M6x35

Foam Pad

Nut  M6

Spanner M10

J
10

H

10

E

K

10

8

4

G7

9

I



L 24PCS

N

R 2PCS Step 10

Step 9M

Double Plastic capWood slat

Single plastic cap

12PCS

24PCS

L
N

E

M
L

G
N

L

M
L

CORRECT  INSTALLATION  OF
WOOD  SLATS  ON  BED  BASE

CORRECT

WRONG

Mattress  stoper
F

R



S 1PCS Step 12

Step 11

Puller F

S
Attention: Please remove mattress
from the bed should you wish to
clean the floor under the bed.
Dragging the bed around with
mattress might compromise the
bed construction , stability or cause
permanent damage.

T 1PCS

Bottom  fabric

A
D

T











Production Ref: L001


